S ——— Installation

839 HWY 2 CORINTH, MS 38834

Sl Instructions
Installation Instructions for Kawasaki Tervx KXR iMpact Front Boot Guards

TAO1ZARMIMPFG-KAW-KRX
Harning ang Product Lishility Disclaimer
This preduct 13 intended to beusad 23 a coametic accessory under nomml equipment aperabion and should net be depended upon or used
as a safety device. Manufacturerassumes no babality for personal injury or equipment damage as the result of use or installation of this
acoessory. User assumes all nsk. User should carefiully read all instructions prior to matallation. PLEASE MOTE: This product was

dezigned, fit and tested onnew vehicle gpecifications  Any damage, medificalions o excesaive wear 1o your velticle may requirs
modification to the product and'or your wehicle to ensure proper litment.

For Front Guards:

A Before starting the installation, remove tires and wheels and support with safety stands.

B. Locate the passenger side a-arm guard (KRX-PF). Also, locate one supplied 4-20 x 1-3/4” flat
head socket cap screw and one supplied '4-20 nylock nut. Holding the guard into position, insert
the 1-3/4" cap screw through the outer pre-dnlled hole of the guard, through the factory a-arm
brace, and secure with the 4-20 nylock nut. See Picture 1. Loosely tighten.

f Picture 2

C. Locate two supplied -20 x 1-1/4" flat head socket cap screws, two supplied ¥-20 nylock muts,
and two supplied 1-1/4" P-clamp. Place the P-clamp around the A-Arm and align the P-clamp
with the predrilled holes in the A-arm guard. Insert one 1-1/4" cap screw through each of the
pre-drilled holes of the guard, through the hole in the P-clamp, and secure with the nylock nut.
See Picture 2. Loosely tighten.

Revision | December 22, 2021 Page 1 of 2



S —— Installation

839 HWY 2 CORINTH, MS 38834

(662) 2335700 Instructions

D. Starting with the single outer cap screw, tighten all fasteners securely. Repeat for the dnver
side. Reinstall the wheels and tires, See Picture 3 for final install.

Enjov! Any questions, contact Trail Armor at 662-233-5700 or www trailarmor.com.

Revision | December 22, 2021 Page 2 of 2



